UActivity-11"

. Summative Assessment Based On CCE

CDO you remember ... .. )

1. Fill in the blanks :

e =
(@3+3+3+3+3+3+3 =| 3
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(b) 16 + 16 + 16 + 16 =| 16 |X
(€) 21421 +21+21 + 21 =| 2] [x
em——————
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d)84+84+84+84+84+84 =| BH [x
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2. Fill in the blanks :
S Ll
@7 x 2 =| [IH b) 8 X 5
@3 x 10=| 3° A9 x6
@6 x 5 =| 320 07 x 7
3. Find the product :
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Summative Assessment BasedOnCCE

pEtyT— =

Fill in the blanks

1. 217 x0=\o 2. 119 1
3 0><1257=’O 4. 1 x 3597 =\35ﬂ3}

T Bkills  Aspects = Concept, Wrttenypy

I
O

5. @ % 9350 = 0 6. 8159 xi | |= 8159

7. 92x 57=|57[x 92 8 16 x 27x0 =@

9. 190

1. Multiply 78 by 6.
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X 6
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7 8

X 6

4 6 8

|

X 457 =

L5 x 190 10. 17 X 15 X9 = 15 x[ﬂm

o Multipl.i.ca.’tlon with Regrou.pi.ng

Step 1: |

Step 2:

Multiply ones
8 ones X 6 = 48 ones

= 4 tens + 8 ones

Write 8 in ones column and carry over 4 to tens colun

Multiply tens
7 tens X 6 = 42 tens

Now, 42 tens + 4 tens = 46 tens
= 40 tens + 6 tens
= 4 hundreds + 6 tens

Write 6 in tens column and 4 in hundreds column.
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2. Multiply 456 by 6.

: Multiply ones

6 ones X 6 = 36 ones = 3 tens + 6 ones
Write 6 in ones column and carry over 3 to tens

column.

- Multiply tens
5 tens X 6 = 30 tens
30 tens + 3 tens = 33 tens
Write 3 in tens column and carry over

— 3 hundreds + 3 tens
3to hundreds

column.

Multiply hundreds

reds X 6 = 24 hundreds

ds = 27 hundreds

housands + 7 hundreds

thousands

4 hund
24'hundreds + 3 hundre
SR ke =2t

Wrife 7 in hundreds column and 2 in
column. .

t5 - Conce pt, Written! work, Tables |

~Summative Assessment Based O . ™ siiisTAspects
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Summative Assessment Based On CCE
1. Multiply the following :

I!!_ Th H T O

H 6 2 2

0

3 ; 22

° R a:

0 |E|[““:::::::::Z::
Th

Il

1106 x 5

1972 X3 =

2435 x 4
3114 x 2
1217 x 7

4175 X 2

Il

15530 |

qT40

(6228

g5 149

———e

8 350

MATHEMATICS In Everyday Life-3
T~ ——————————

Scanned with CamScanner



